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-l EA kKN ERER

il pall Bl K& HAL | ALEE | A2Ee | & & |1H
ay 7 J—k o ck=24N,/mm’ m’ 60. 8 61.4 122.2
il P —FIFE: H=30.0m m’ 91.6 89. 2 180. 8
WLyt & ck=18N/mn n’ 24. 1 27.3 51.4
t=100 m® 2.4 2.7 5.1
BjLar s ) — MNP BLrarsy—h m’ 2.1 2.2 4.3
7o H— LR E MfE ¢ 150 m 5.8 5.8 11.6
g | D16ELED26LAT 1477 1499 2976
g D13 SD345 kg 564 557 1121
it it 2041 2056 4097
U . FHEATRMM H=30.0m Hhm® 118.0 113.0 231.0




1-2-1 AMBBEARAKRHKE
AlfEE
R
it ] H s EX0A % & i &
JEE it 22. 04
5 = T EE 35.13
i NT b o ck=24N/mm’ m’ 3.02
L A JEE 0. 62
i 60. 81
JEE il 19. 70
- 7= T KE 58. 11
; /RT3y b Hggggﬁn i’ 13.22
B JHE 0.57
G 91. 60
KLayv sy —h o ck=18N/mn’ n’ 24.05
=100 I 9 41
BL=arv U — Mg BLarrz—Fh m’ 2.05
Tl — LR E Mfa ¢ 150 m 5.76
o D16LL_ED25LLF 1477
g D13 SD345 kg 564
i i 2041
z % L TR Hhm? 117.96

H=30.0m




1-2-2 OA1BEHERR

1.2 27 U—F (o ck=24N/mm’)

1-1. JERR
Vi= 6.296 X 3.500 X 1. 000 = 22. 04
1-2. 7= ChE
(RiiTH) a 1= 3.700 X 6. 296 = 23.295
(/R i)
a2= 3.730 X 6. 296 = 23.484
(i) a3= 3.730 X 6. 296 = 23.484
vi= 1/2 X (23.295 p? 4+ 23.484 pd)x 1.000 = 23.39
vi2= 1/2 X (0 23.484 p? + 23.484 pd)x 0. 500 = 11.74

XV2 = 35.13

1-3. 737 Xy |

(fiTE) a 1= /2 x (1040 + 1.046 ) X 0.609 = 0. 638
a2= /2 x (1046 + 1.070 ) X 2.539 = 2. 686
a3= /2 X (  1.070 + 1019 ) X  2.539 = 2. 652
ad= /2 X (L0119 + 1.016 ) X  0.609 = 0. 620
Al = 6. 596
(M) ab= /2 X (1034 + 1.031 ) X  0.609 = 0. 629
ab= /2 x (1031 + 1.055 ) X  2.539 = 2.648
al= /2 X ( 1.055 + 1.004 ) X  2.539 = 2.614
a8= /2 x ( 1.004 + 1001 ) X  0.609 = 0.611
A2 = 6. 502
vi= /2 X ( 6.596 p+  6.502 pd)x  0.500 = 3. 27

(AEFT & 4%ER)
v2= () 2.539 X 0.500 X 0.100 X 2 =) 0.2
V3 = 3.02

1-4. 3

vi= 0.900 X 1.030 X 0.173 X 4 = 0. 64
v2= () 1/2 X 0.515 X 0.091 X 0.173 X 4 = () 0.02
V4 = 0. 62

1-5. 27 ) — b &3

V= 22.04 n’ + 35.13 n® + 3.02 '+ 0.62 n’ = 60. 81



2-1. JEHR
Al= ( 6.296 + 3.500 X
2-2. J- CHE
(fiTE) a 1= (2y7 ) —1hoELY)
(1) a 2= (27 V—bDELY)
(FET) a 3= 3.730 X 0.500 X
ad= /2 x ( 3.70 +
2-3. /87~y b
(#if) a 1= (27 ) —homELY)
(Eih) a2= (27 ) —homELY)
(FEH) a 3= /2 x (1049 +
ad= /2 x ( 1.016 +
(T B )
abs= 0.100 X 0.500 X
(R T B B HERR)
ab= () 2.539 X 0.100  x
2-4. RIE
al= /2 x (  0.184 +
a2= /2 x ( 0.189 +
al3= /2 x (  0.162 +
ad= /2 x (  0.160 +
2-5. AR
A= 19.70 n> 4+ 58.11 n® +

1/s1n80°

1/s1n80°

3.730

1. 034

1. 001

1/5in80°

4

0. 189
0. 162
0. 160

0. 184

13. 22

) X

X

) X

) X
) X

X

m® +

1. 000

0.500

0. 500

1. 030
0.900
0.515

0. 809

0.57 m?

X

X

X

X

1. 000

1/s1n80°

1/5in80°

1/5in80°

19.

23.

23.

70

30

48

.79

.54

X A2

)

58.

.60

.50

.53

.51

.10

.02

2 A3

13.

22

.19

.16

.08

.14

X A4

91.

.57

60



3.8 Lars U—1h (ock=18N/mn’ - t=100)
A= 6.500 X 3. 700 = 24.05 p?

V= 24.05 p? X 0. 100 = 2.41 o’

4. ¥ Laryy— P

A= ( 6.500 + 3.700 X 1/sin80° ) X 0. 100 X 2 = 2.05 p?

5. 7ra—faEkE (FfA ¢ 150)

L1= 0.390 — 0.030 = 0.360 m
N1= 4 K X 4 = 16 A
XL1= 0.360 mX 16 ¥N = 5.76 m

6. kB R (SD345)

D16 — 1477 ke

D13 — 564 ke

Zw = 2041 ke

D16 ED25LLTF 1477 ke
D13 564 ke

7. YL (FREEATRMSE - H=30m)

A= ( 3.757 + 8.530 ) X 2

X

4. 800 = 117.96  ##n’



1-3-1 RIBEXRREHE

H=30.0m

A2EBA
P
il | H ¥ HAAL ¥ & =
JEE i 25.18
i = T BE 31.83
7 o o 2 3
Y INT Xy b o ck=24N/mm m 3.75
|
k B JEE 0. 66
7 61.42
JE i 20. 72
7= T KHE 52. 63
il ru
05 A0 41;:@*43 2
@ RT 2y |k H=30.0m m 15. 26
=) JEE 0.61
g 89. 22
2 27.30
KLayv sy —h o ck=18N/mn’ T
t=100 o 9 73
WLar sz ) — pa HlLarzy—k m 2.15
7oA — LR E M ¢ 150 m 5.76
o D16LL D25LLF 1499
it
e D13 SD345 kg 557
" 3 2056
- 4= FF] 4
L TR i 113. 04




1-3-2 OA2BEHERR

1.2 27 U—F (o ck=24N/mm’)

1-1. JEK
Vi= 6.296 X 4.000 X 1. 000 = 25.18
1-2. 7= Ch#
(fiTE) a 1= 3.350 X 6. 296 = 21. 092
(/R i)
a2= 3.380 X 6. 296 = 21. 280
(&) a3= 3.380 X 6. 296 = 21. 280
vi= /2 X ( 21.092 p? 4+ 21.280 p?)x  1.000 = 21.19
v2= /2 x ( 21.280 p® 4+ 21.280 p®)x  0.500 = 10. 64

XV2 = 31.83

1-3. 737 Xy |k

(Riiifd) a 1= /2 x (1199 + 1.196 ) X 0.609 = 0. 729
a2= /2 X ( 1196 + 1.220 ) X 2.539 = 3. 067

a3= /2 x (1220 + 1.169 ) X  2.539 = 3.033

ad= /2 x (1169 + 1.166 ) X  0.609 = 0. 711
Al = 7.540

(1) ab= /2 X ( 1184 + 1.181 ) X  0.609 = 0. 720
ab= /2 x (1181 + 1.206 ) X 2.539 = 3.029

al= /2 X (1205 + 1.1564 ) X 2.539 = 2.995

a8= /2 X (1154 + 1.151 ) X 0.609 = 0. 702
A2 = 7. 446

V3= /2 X ( 7.540 pf 4+  7.446 p®)x  0.500 = 3.75

1-4. 3

vi= 0.900 X 1.030 X 0.183 X 4 = 0. 68

v2= () 1/2 X 0.515 X 0.091 X 0.183 X 4 = () 0.02

V4 = 0. 66

1-5. 227 V— ~aif

V= 25.18 n’ + 31.83 n® + 3.75 w4+ 0.66 mn’

61.42



2-1. JEHR
Al= ( 6.296 + 4.000
2-2. J- CHE
(fiTE) a 1= (2y7 ) —1hoELY)
(1) a 2= (27 V—bDELY)
(FET) a 3= 3.380 X 0. 500

ad= /2 X ( 3. 380

2-3. /37 Xy b

(RiiTH) a 1= (a7 V—hrDELY)
(TH) a 2= (a7 V—hrDELY)
(FEH) a 3= /2 X ( 1.199
ad= /2 X ( 1.166

(R +T HE8)
ab= 0.100 X 0. 500

(R AT B T ERR)
a6= () 2.539 X 0. 100

2-4. B
al= /2 X ( 0.194
a2= /2 X ( 0.199
a3= /2 X ( 0.172
ad= /2 X ( 0.170
2-5. AR

A= 20.72 n? + 52.63 mw’ +

X

X

+

X

1/sin80° ) X

1/sin80° X

3.350 ) X

1.184 ) X
1.1561 ) X
1/sin80° X

4

0.199 ) X
0.172 ) X
0.170 ) X

0.194 ) X

15.26 mw® +

1. 000

0.500

0. 500

1. 030
0.900
0.515

0. 809

0.61 p?

X

X

X

X

1. 000

1/s1n80°

1/5in80°

1/5in80°

20.

21.

21.

72

09

28

.43

.83

X A2

)

52.

63

.54

.45

.60

.59

.10

.02

2 A3

15.

26

.20

17

.09

.15

X A4

89.

.61

22



3.8 Lars U—1h (ock=18N/mn’ - t=100)
A= 6.500 X 4. 200 = 27.30

V= 27.30 n® X 0. 100 = 2.73

4. ¥ Laryy— P

A= ( 6.500 + 4. 200 X 1/sin80° ) X 0. 100 X 2 = 2.15 p?

5. 7ra—faEkE (FfA ¢ 150)

L1= 0.390 — 0.030 = 0.360 m
N1= 4 K X 4 = 16 A
XL1= 0.360 mX 16 ¥N = 5.76 m

6. kB R (SD345)

D16 — 1499 ke

D13 — 557 ke

Zw = 2056 ke

D16 ED25LLTF 1499 kg
D13 557 ke

7. YL (FREEATRESE - H=30m)

X

A= ( 3.757 + 8.530 ) X 2 4. 600 = 113.04  ##n®
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2 1T-+T



2-1 A K + T ¥ &

) o % & (L
R ol B | HAL -
AlBE|IA2EAR & F
THIK A + w m* 62. 6 57.0 119.6
HEAk B + w m’ 191. 4 193.2 384. 6
7
HHIE C + w m* 10. 1 4.6 14. 7
STk C o 1 m° 30.4 32.2 62.6
. L .
R mﬁgﬁfﬂgﬁ i i m’ 181.5 171. 2 352.7




AlEEE

2-2-1 + THEHEEF

o Rl Ao Bl o |HAL K & fii

ERN + w m® 62. 6

THI B + W m* 191. 4
N

FEIER C + w m® 10. 1

I C HoE 1 m* 30.4
W BRI T B 181.5

ImPA F4m Rl




2-2-2 AlfEE LT R HEE
£ FR R " T = B o=
K + b
FEIR A BIRHE LY = 62.6
TRk B BIRHE LY = 191. 4
fEIEk C BIRHE LY = 10. 1
&t = 264. 1
[e=!
fEIk C BIRHE LY = 30. 4
B KL RS
R I F4mAl | BLREE LY = 181.5 m’




2-2-3

AlRESE

+T

7 =
o . - é;ﬁﬁ(jig%l;ﬁﬁh&fzz y " i?ﬂﬂ(jii%l;ﬁﬁhilig - -
6.8  — — 20.8] — —
9. 200 6.8 6. 80 62. 6 20. 8 20. 80 191. 4
& 62. 6 191. 4




2=2—4

AlfEB +L O
o . - gﬂﬁ(if)ﬁﬁﬁ Cﬁ) y %ﬁﬂéﬁiﬂ <$kz”‘i Iizj (TE g ; )*ﬁ -
L1 — — 3.3 — —
9. 200 1.1 1. 10 10. 1 3.3 3.30 30. 4
& 10. 1 30. 4




2=2-5

Alfse LT B & i "
/N oA ” B - " -
T ¥ A Wr T D) VAR
25. 0 — —
1. 452 25.0 25. 00 36.3
17.3 — —
6. 296 17.3 17. 30 108.9
25. 0 — —
1. 452 25.0 25. 00 36.3
= 181.5 0.0




A218E

2-3-1 + THEHEEF

B moomy Mok |HEA| B & i

ERN + w m® 57.0

THI B + W m’ 193.2
I

fElEk C + w m”® 4.6

FEIE C L/C= m’ 32.2
W BRI T B 171.2

ImPA F4m Rl




2-3-2 A2fEBE L e iR E
£ FR R " T = B o=
K + fb
FEIR A BIRHE LY = 57.0 m"
TEIk B BIRHE LY = 193.2 m’
fEIk C BIRHE LY = 4.6 m'
&t = 254.8 m"
[e=!
e BIRHE LY = 32.2 m"
B KL RS
R ImPL BAmRH | BIREHE LD = 171.2 m’
B 1 BIRHE LY = 232.0 m"
KE+D 5
AXIE - A KA+ 5 /2 x( 04 + 54 Hx 8%
+ 54 X 9%
+ /2 x( 548 + 048 H)x 10% = 90 ¥
%+ + 254.8 — 171.2  0.90 = 64.6 m'
/=) = 32.2 m'
R+ A+ = 232.0 m'
AR IE 4.20 X  6.50 = 27.3 m’




2-3-3

Azifin tL S
W W - gﬁ(if)ﬁﬂﬁg _ - gﬂi’ﬂ(if)i;ﬁafgz]z p .
6.2 21.0
9. 200 6.2 6. 20 57.0 21.0 21.00 193. 2
& 57.0 193. 2




2-3-4

A2fEs +LT B E A
. . R (/D) (fEIE C) R (s 1) (fEIkC) »
/=Y s ;
W - Wr ¥ AV Wr RIS RV i =
0.5 3.5
9. 200 0.5 0. 50 4.6 3.5 3. 50 32. 2
& 4.6 32.2




2-3-5

A2fFEH L & AR
TN B : B o (== o o
Wi m D) VA Wr i ¥ RV
23.6 — -
1. 452 23.6 23. 60 34.3
16. 3 — -
6. 296 16. 3 16. 30 102. 6
23.6 — -
1. 452 23.6 23. 60 34.3
0.0 - -
5. 300 16. 0 8. 00 42.4
9. 200 16. 0 16. 00 147. 2
5. 300 0.0 8. 00 42.4
& = 171. 2 232. 0
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3-1 {AlJI| - AL s i 2R

T o AE B LT B fii

T *
AT =X

EiizL RN m3 678.
BT =X

[ fE7e L m3 18.
LR L =X

EIES] % 3 m2 228.
7% AT =X

Fe +-4 m3 824.




3-2-1 FELEFFE
B e T
HOR

H B HAL PSS B & E S

PEH RN m3 678.7 678.7




3-2-2 FHIWrE AR R R
N TRE T ITTRS
Zn vy T

X Sal
i B PR
b5k B
$i] (1-5)
WA B OREGm) | WPERE (n2) |EROMTEAL m2) R (n3) WHER (n2)  [EeliER m2)| kB (n3) 5 =
— U L D

SECT-25. 7 0.0 — —
SECT-11. 6 14. 1 30. 2 15. 10 212.9
SECT-4. 6 7.0 19. 8 25. 00 175.0 T8 KK

/N B 21. 1 387.9 0.0
SECT-4. 6 20. 3 — — & 15 10
SECT4. 6 9.2 20. 3 20. 30 186. 8

/N B 9.2 186. 8 0.0
SECT4. 6 19.8 — — T8 KA
SECT9. 8 5.2 20. 2 20. 00 104. 0

/N F 5.2 104. 0 0.0

& B 35.5 678.7 0.0




3-3-1 s«

I s

-

Gl O HAAL W4T & F i B
HRE7R L m3 18.7 18.7




3-3-2 LRI AFE AR

i LI s
A= SRR R I 11T s
X Sal
i A&t
b5k B
Rt (BEA L)
W BEOBEG) | WrmRE n2) [EHMTERE m2)| (K R 03) WrEAL (n2)  [EEmiER )| R @s) 5 =
— S SEEBEIC X D

SECT-25. 7 0.0 — —
SECT-11. 6 14. 1 0.0 0. 00 0.0
SECT-4. 6 7.0 1.1 0.55 3.9 T8 RAK

/N B 21. 1 3.9 0.0
SECT-4. 6 1.1 — — &5 10
SECT4. 6 9.2 1.1 1. 10 10. 1

/N § 9.2 10. 1 0.0
SECT4. 6 1.1 — — T8 RAK
SECT9. 8 5.2 0.7 0.90 4.7

/N B 5.2 4.7 0.0

& B 35.5 18.7 0.0




B

B LT
ST

3-4-1 ELHE

it

H

Bl

#%

LA

1

L2

IEEIETE

i

m2

129. 2

98. 9

228. 1




3-4-2 FEEREMRIRE

i B AR L
A =R/ AR oY==
X Sal
i B EmER
h5ik B
GRS w4
W BE B (m) wEM | EEEM | @ Bn) EMm | EEEm H % @2) o omE
S AR K
— %

SECT-11. 6 6.9 — —
SECT-4. 6 7.0 6.9 6. 90 48.3 - BE R

/I 3 7.0 48.3 0.0
SECT-4. 6 4.7 — — NS
SECT4. 6 9.2 4.7 4.70 43.2

/I 3 9.2 43.2 0.0
SECT4. 6 6.9 — — - BE R
SECT9. 8 5.2 7.6 7.25 37.7

/I 7 5.2 37.7 0.0

= 3 21. 4 129.2 0.0




3-4-3 FEEREMRIRE

i B AR L
Tuy s o bR
X Sal
i B EmER
h5ik B
GRS w4
W BE B (m) wEM | EEEM | @ Bn) EMm | EEEm H % @2) o omE
SRR X
— )

SECT-9. 6 6.0 — —
SECT-4. 6 5.0 7.0 6. 50 32.5 B RAR

/I i 5.0 32.5 0.0
SECT-4. 6 4.7 — — NS
SECT4. 6 9.2 4.7 4.70 43.2

/I E 9.2 43.2 0.0
SECT4. 6 7.0 — — B RAR
SECT7. 3 2.7 7.6 7.30 19.7

/I H 2.7 19.7 0.0
SECT7. 3 1.5 — — g =
SECT9. 6 2.3 1.5 1.50 3.5

/I i 2.3 3.5 0.0

= 3 19. 2 98.9 0.0




3-5-1 FELHEFFE
fE B R T
HOR

H B HAL PSS B & E S

FE B m3 824. 4 824. 4




3-5-2 —fxEFEE

B9l aET
s L

X A
HHA1 RS B = &
5% g +T - E¥+ T KHEELD
+w G +10)
PEHI V1= 648. 1
G 32" AN
PR V2= 431.2
A+

Ve=648. 1+431. 2=1079. 3

G +10)

&4 (FR 72 L) Vii= 18.7
G 32" AN

HEE L (FERC) V12= 210.7
AT N

Vb= (18.7+210.7) /0.9=254.9

Loyt &
V=1079. 3-254. 9=824. 4

824.4 m3




4. R T(D)



N = U A= N =
4-1 /ﬁ%n%ﬁj: <1> §&£$ n+2%
B AEEL T
#H :
Gl O HAAL Py == Epes & F i B

AR +/ m3 282.5 148. 7 431.2
ML C m3 138.7 72.0 210.7

D m3 0.0 0.0 0.0
e R OE RN m2 19.9 13.8 33.7




1 e EE% Y Awliet
4-2-1 W ATE AR
il Bl AEEL T
A= ARy
X Sal
i B R, S EE
b5k k& . -Hb
=i HTEE
W BEOBEG) | WrmREn2) [EHWTERE m2)| (K R 03) i (m) SEEJIE (m) i A (n2) 5 =
EFLAE V3R B X (S
— HEREEE) 2R
SECT-12. 5 19.0 — — 1.0 — —
=0. 30+9. 93+0. 30
SECT-4. 6 9.1 16.6 17. 80 162.0 1.0 1. 00 9.1 [-1.45(&FKHRE)
/N B 9.1 162. 0 9.1
SECT-4. 6 4.4 — — 0.6 — — &5
SECT4. 6 9.2 4.4 4, 40 40. 5 0.6 0. 60 5.5 |FKAREL=9. 2
/)N g 9.2 40.5 5.5
SECT4. 6 16.6 — — 1.0 — — B RARGER
=0. 30+6. 19+0. 30
SECT9. 8 5.3 13.6 15. 10 80. 0 1.0 1. 00 5.3 |-1. 45 (5&HER)
/)N § 5.3 80.0 5.3
& % 23.6 282.5 19.9




4-2-2 PYIWrmATER IR &
o Bl fE¥ELT
A= /ARy =

X Sal
i AR L
h5ik ¥ : C /D
WEL C HEL D
W BEOBEG) | WrmREn2) [EHWTERE m2)| (K R 03) WrEAL (n2)  [EEmiE R m2)| @) 5 =
EFLAE V3R B X (S
— HEREEE) 2R
SECT-12.5 8.9 — —
=0. 30+9. 93+0. 30
SECT-4. 6 9.1 8.1 8. 50 77. 4 —1. 45 (FAHRER)
/)N g 9.1 77.4 0.0
SECT-4. 6 2.4 — — &5 0
SECT4. 6 9.2 2.4 2. 40 22.1 RAERL=9. 2
/N g 9.2 22. 1 0.0
SECT4. 6 8.1 — — B RARGER
=0. 30+6. 19+0. 30
SECT9. 8 5.3 6.7 7. 40 39. 2 —1. 45 (FAHRER)
/N § 5.3 39. 2 0.0

& i 23. 6 138. 7 0.0




Iz = K5
4-2-3 VW IRTE R AR
fE B EELT
Tuv o hHE
X Sal
o B R R IE
b5k k% . +-Ab

=i LT
W BEOBEG) | WrmREn2) [EHWTERE m2)| (K R 03) i (m) SEEJIE (m) i A (n2) 5 =
EFLAE V3R B X (S
— HEREEE) 2R
SECT-9. 7 11.8 — — 1.0 — —
=0. 30+6. 40+0. 30
SECT-4. 6 5.6 16.2 14. 00 78. 4 1.0 1. 00 5.6 |-1.45 (5&HER)
/N B 5.6 78. 4 5.6
SECT-4. 6 3.2 — — 0.6 — — &5
SECT4. 6 9.2 3.2 3. 20 29. 4 0.6 0. 60 5.5 |FKAREL=9. 2
/)N B 9.2 29. 4 5.5
SECT4. 6 16.2 — — 1.0 — — B RARGER
=0. 30+3. 55+0. 30
SECT7.5 2.7 14. 1 15.15 40. 9 1.0 1. 00 2.7 |-1.45 (FHRED)
/)N B 2.7 40.9 2.7

& i 17. 5 148. 7 13.8




4-2-4 SEHIWHIATE TR £

i Bl AEEL T
Ty o fE
X Sal
i AR L
h5ik ¥ : C /D
WEL C HEL D
W BEOBEG) | WrmREn2) [EHWTERE m2)| (K R 03) WrEAL (n2)  [EEmiE R m2)| @) 5 =
EFLAE V3R B X (S
— HEREEE) 2R
SECT-9. 7 6.0 — —
=0. 30+6. 40+0. 30
SECT-4. 6 5.6 7.6 6. 80 38. 1 —1. 45 (FAHRER)
/)N g 5.6 38. 1 0.0
SECT-4. 6 1.5 — — &5 0
SECT4. 6 9.2 1.5 1. 50 13.8 RAERL=9. 2
/N g 9.2 13.8 0.0
SECT4. 6 7.7 — — B RARGER
=0. 30+3. 55+0. 30
SECT7. 5 2.7 7.2 7. 45 20. 1 —1. 45 (FAHRER)
/N § 2.7 20. 1 0.0
& B 17.5 72.0 0.0




4-3-1 $ELEFE

B LA T

-

Gl O HAAL Py == Epes & F i B
JERET B1040 X H200 (K%7 " ny) F) m 16. 1 10.0 26. 1

JERE T B430 X H250 (H%17" ny) ) m 6.3 6.3 12.6




4-3-2 HERE

i B LT
Tuav 7o R
X Eal
i B AT
h5ik K ST v - R B {7 :m
H A W& fii 5
[1 53T ] PR VTR B X (JERRERREE) 2 1R
15/hNA~25/h A 9.93
3 /NA~4F5/NA 6.19
/N 2 16. 12
(25 R T ]
25 /NA~3F/NA 6. 30
/N 2 6. 30

& z 22. 42




4-3-3 HEH=
Bl T
Tav s AHE
X Eal
i B AT
h5ik K ST v - R B {7 :m
H A W& fii 5
[1 53T ] PR VTR B X (JERRERREE) 2 1R
55 /NA~65/NA 6. 40
T5/NA~8F/ A 3.55
72N i 9.95
(25 R T ]
65/NA~T5/A 6. 30
2N i 6. 30
& £ 16. 25




4-3-4 AT EEH R E
Al B 1 RERET

i K& : B1040 X H200 (7" nys ) 10.0 m%49
i |
aAVvol)—k \
o ck=18N/mm2 . \\
o
OC\I
O Yo
EBERA L <
RC-40" 0.10_0.84 0.10
1.04
TEL & 7 = &
a7 —Fk

V=1.04 X0. 20X 10. 00=2. 080
o ck=18N/mm2

2.08 m3
i
A=0. 20 X2X10. 00+ (1. 04X 0. 20) X 1=4. 208
4.21 m2
FEREA
A=1. 04X 10. 00=10. 400
RC-40 t=20cm V=1.04X10. 00X 0. 20=2. 080
10.40 m2
H Hibk
A=1. 04X 0. 20=0. 208
t=10mm

0.21 m2




4-3-5 HATEEEH R E
Al B 2 FEHET

i ¥ - B430 X H250 (RSI%n7" uy/ ) 10.0 m%49
i |

avoyy—F
o ck=18N/mm2

—r
o ~N
(&) ()
o
oL o
RC—40 0. 1‘0 0.43 . 10
0.63
T % 5 < AT
ar7 J—h
V=(0. 43X 0. 25-1/2X0. 33X0. 15) X 10. 00=0. 828
o ck=18N/mm2
0.83 m3
T P
A=(0. 25+0. 10) X 10. 00+ (0. 43X 0. 25-1/2X0. 33X 0. 15) X 1=3. 583
3.58 m2
HEpE
A=0. 63 X 10. 00=6. 300
RC-40 t=10cm V=0. 63 X10. 00X0. 10=0. 630
6.30 m2
H HiAk
A=(0. 43X 0.25-1/2X0.33X0.15) X 1=0. 083
t=10mm

0.08 m2
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5-1 VEFEEE T (2) i ER

7

gk

THEXy  EEERET

T FE Bl Tl Hi ¥ HANL o & T E2)
EIa = 1
A = 1
1:0.5 7507
1500 X 1000 X 750
BT ny ) fE 1 GEmH D) m2 101
1:0.5 7507
1500 X 1000 X 750
BT ny ) FE2 (Em 72 L) m2 67
thEEay ) —p o ck=18N/mm2 m3 61
AiiA =) )b o ck=18N/mm2 m3 14
HAA RC-40 m3 104
15 R 1. A Y 7 m 17
255 R L. VA L7 m 9
T2 Y 1
1:0.5 &7 ny) Cilif)
/) =17 ny )k P22 35cm H=4. 45m m2 63
35 K L. m 13
gEa/y) - = 1
gy ) —h o ck=18N/mm2 t=15cm m2 20




Ml IRERE S L

5-2-1 &t

it

%
A Bl O HAAL Py == Ttk & F i B
1:0.5 7507
1500 X 1000 X 750
KT ny ) FE1 (Embd ) m2 37. 64.0 101.
1:0.5 7507
1500 X 1000 X 750
KRBT vy ) FH2 (Em7e L) m2 67. 67.
A o ck=18N/mm2 m3 38. 22.7 61.
AidiA=y)) - o ck=18N/mm2 m3 9. 5.3 14.
HIAREA RC-40 m3 64. 39. 4 104.
175 K T R Y I m 6. 10. 3 16.
25 K T R LI m 9. 9.




5-2-2 VEJiEREMEGRRE

B R T
Juav o EE
X Eal
i Bl s KRBT ny s FE L
h5ik B - 1:0.5 7507 1500 X 1000 X 750 BEHEH & V)
2E) i 5 £ (SL)
M= K i R | EE AR R R AR EE2 PR ERE [IfT gL
[VEm 72 L7 ] B X 2 BR
SECT-12. 5 1:0.5
7.57 8. 05 7.81 7.12 7.12 7.12 55. 6

SECT-3. 1 1. 40 1.88 1.64 7.12 7.11 7.12 11.7

2N i 8.97 9.93 9. 45 67.3
BEmA D 447" ]
SECT3. 1
SECT9. 8 6.19 6.19 6.19 7.02 5. 00 6.01 37.2

2N i 6.19 6.19 6.19 37.2

& B 15. 16 16. 12 15. 64 104.5




5-2-3 HIER IR R K

B ERT
Tav s AHE
X Eal
i Bl s KRBT ny s FE L
h5ik B - 1:0.5 7507 1500 X 1000 X 750 BEHEH & V)
2E) i 5 £ (SL)

M= K i R | EE AR R R AR EE2 PR ERE [IfT gL
BEmA D447 ] B X 2 BR
SECT-9. 7 1:0.5

0. 00 0.34 0.17 5.19 5.18 5.19 0.

6.24 6. 06 6.15 5.18 7.20 6.19 38.

SECT-3. 1 0.52 0. 00 0. 26 7.20 7.20 7.20 1.

2N i 6.76 6. 40 6. 58 40.
SECT3. 1

SECT7. 5 3. 55 3. 55 3. 55 7.11 5.93 6.52 23

2N i 3.55 3.55 3.55 23.

& B 10. 31 9. 95 10. 13 64. 0




Fit Al FER
A=A

5-2-4 —f%EHEE

X

KALT wy ) FE1

1:0.5 7507 H=7.0n &EHY)
1500 X1000 X 750 o
(Em&H ) oo 1SR

XN\

AT Y-+ \

\ Q.
\ \*}
& {IE|
KB JOvy AN . ?V.% l
750%! \\ > G Q
~ \\ & III
0 \ ™
e \ :I|‘:
\
A
A\
BARE A\
RC-40 \
X
\ =
. 8=
| J bt P
25T
BEmdH Y XA 7]
RE R L=6. 19m
TR
SL=37.2/6.19=6. 01m
T4

H=6.01/1. 118%}3£=5. 38m

KRBT vy 7 Bt
N=6{

BN (1 0m4 0)
A=6X 1. 0=6. 00m2

FiAEA (1. 0m2 V) BEAZHCED)
Hre=5. 38+0. 40=5. 78

A=1/2X (0. 34 X 2+5. 78X 0. 1) X 5. 78=3. 64
V=3.64X1.0=3. 64

37.2

m2




Fit Al FER
A=A

5-2-5 —f%EEE

X A

H Bk L £ X %=
RN 0y 2
1:0.5 7507 H=7.0m kE#EL)

1.00LLE

0. 40

[EmZR LY A 7]
RELER  L=9. 45m

TR
SL=67. 3/9. 45=7. 12m

S
H=7.12/1. 118%}3£=6. 37m

KRBT vy 7 Bt
N=71

BN (1 0m4 0)
A=7 X 1. 0=7. 00m2

FiAEA (1. 0m2 V) BEAZHCED)

Hre=6. 37-0. 34+0. 40=6. 43

A=1/2X (0. 37X 2+6. 43X0. 1) X6. 43=4. 45
V=4.45X1. 0=4. 45

67.3

m2




5-2-6 —fXFHEE

ool T

Ty o e

X A
A A B z\ 2B
thEgay ) -}
V0=0. 561m3/{# (1. 5m2) MA—T—H X2 7fEly
o ck=18N/mm2
EmEH Y XA 7]
SCHA G (1. omY D)
V=0.561/1. 50X 6X 1. 0=2. 244m3
i 7 U — MERE /B
V=2. 244X 6. 19=13. 890
EmZR L XA 7]
SCHA G (1. omY D)
V=0.561/1. 50X 7 X 1. 0=2. 618m3
hEEa 7 U — MEFE /B
V=2.618X9. 45=24. 740
hEEa 7 ) — MAE &5
V=13. 890+24. 740=38. 630
38.6 m3
i ER=NZAR
V0=0. 131m3/{# (1. 5m2) MA—T—H X 7fEly
o ck=18N/mm2
WEmEH Y XA 7]
SCHAHE (1. om% D)
V=0. 131/1. 50X 6 X 1. 0=0. 524m3
RiA =27 U — MMAFE  /Ndt
V=0. 524 X 6. 19=3. 244
EmZR XA ]
SCHANT#E (1. 0mX4 v )
V=0.131/1. 50X 7 X 1. 0=0. 611m3
A=z 7 U— NMEFE /NGt
V=0. 611X 9. 45=5. 774
A= 27 U— MAFE A5t
V=3. 244+5. 774=9. 018 9.0 m3

SER ) =]

o ck=18N/mm2

[EwH D 24 7]
SHNLEL R (1. 0m4 1) )

V=(6. 01-1. 00 X 6) X 0. 75X 1. 0=0. 007m3
a7 U — MAE /NG

V=0. 007 X 6. 19=0. 043

EmEmRLZA 7]
SCHANT# (1. 0mX4 v )
V=(7.12-1. 00X 7) X 0. 75X 1. 0=0. 090m3
a7 ) — MEFE /B

V=0. 090 X 9. 45=0. 851

a7 ) — MEE
V=0. 043+0. 851=0. 894

0.9 m3




Fit Al FER
=R/ AR oY==
X A

5-2-7 —fxEtHEE

A I DS

5 20 X

5

[Enf

W B IR RS

7y 7 FEmAE & [A]

[EmdH Y 2 A 7]
PRHAHCE (1. 0m 1))
A=6. 01X 1. 0=6. 010m2

(e Ly A 7]
PREAHCE (1. 0m 1))
A=7. 12X 1. 0=7. 120m2

104. 5

m2

HIAMA

RC-40

[Em&®» Y 2 A 7]
V=3. 64X 6. 19=22. 532m3

[EmR LZA 7]
V=4. 45X 9. 45=42. 053m3

HiAWa B
V=22. 532+42. 053=64. 585

64. 6

m3




&l
TavJ o
X s

5—2-8 —fXEIEE
HEET1
5

oI DS 5 20

5

[Enf

KALT ny JfEL

1:0.5 75074
1500 X 1000 X 750

(EmdHY)

H=7.0m EE&HY)

% 15XHT

FARA
RC-40

0. 40

[Em® D 2 A 7]
RELER  L=10. 13m

TR
SL=64. 0/10. 13=6. 32m

S
H=6.32/1. 1184}3£=5. 65m

KRBT vy 7 Bt
N=6{

BN (1 0m4 0)
A=6X 1. 0=6. 00m2

FiAEA (1. 0m2 V) BEAZHCED)
Hre=5. 65+0. 40=6. 05

A=1/2X (0. 34 X 2+6. 05X0. 1) X6. 05=3. 89
V=3.89X1.0=3. 89

64. 0

m2




B B R
A=/ Sy ==

X s

5-2-9 —fXFHEE

i B

5 20 X

5

[El

FEeas )0

o ck=18N/mm2

V0=0. 561m3/{# (1. 5m2) KA —H—hZa7ELD

[EmdH Y 2 A 7]
SHEAHCE (1. 0m 1))
V=0.561/1. 50 X6 X 1. 0=2. 244m3
A7 U — MERE G
V=2. 244X 10. 13=22. 732

22.7

m3

i ER=NZAR

o ck=18N/mm2

V0=0. 131m3/{# (1. 5m2) KA —h—hZa7ELD

[EHdH Y 2 A 7]
SRHAHCE (1. 0m 1)

V=0. 131/1. 50 X 6 X 1. 0=0. 524m3
A= 7 ) — MEFE Ff
V=0. 524 X 10. 13=5. 308

5.3

m3

FEEay )= |

o ck=18N/mm2

[EHdH Y 2 A 7]
HEAHCE (1. 0m% 1)

V=(6. 32-1. 00 X 6) X 0. 75X 1. 0=0. 240m3
a7 ) — MEFE E

V=0. 240 X 10. 13=2. 431

2.4

m3

W B IR R

7\ 7 R & A

[EmH Y 2 A 7]
RN HCE (1. 0m 1))
A=6. 32X 1. 0=6. 320m2

64. 0

m2

HIAA

RC-40

[EmdH Y 2 A 7]
V=3.89X10. 13=39. 406m3

39. 4

m3




i il ==
A =R /AR oY==
X o7

i B K L
b5k £

5-2-10 ZER&

EH A7 :m

el

=y

DN

%

i

N

i

(15K T (Lo D 4 A7) ]

35/hAk~45/h0 1k 6.19
2N i 6.19

(25 Kim L GEHERR LEA )]

15/hAlk~28/h~a 1k 8.97
2N i 8.97
& E 15. 16




5-2-11 #EHE
i Gl J== |
A =R/ AR o=

X 93
i A 15 Kl L
h5ik ¥ EmEA D T H {7 :m
H A W& fii 5
[15Kim L GEmEHY XA 7)]
15/haE~25/A 1k 6.76
35/hAlE~45/A 1k 3.55
7N B 10. 31
& £ 10. 31




5-2-12 Hf7 ¥ EEE &

H B 1B K T

5] ¥ IEEmAa M7 10,0 m¥4 Y
73 |
avol)—k
o ck=18N/mn2 %
&5 v .
P A \
\ \ \/‘
AN e
. .
= o
‘O \ \
=2 .
N \
TEL & 5 X T
EVZIE

V=1/2X0.84X0. 34 X10. 00=1. 428
o ck=18N/mm2

1.43 m3
i
A=1/2X0. 84X 0. 34=0. 143
/NS S
0.14 m2
H HibR
A=1/2X0. 84X 0. 34=0. 143
t=10mm

0.14 m2




5-2-13 HN ¥ EE B E

H B 25 K T

i ¥ MBI LT 10.0 m¥4Y
i |
o ck=18N/mm2 ﬁ
<—
(ap]
o "
~
\ g
0.37 \\.0
N\ o'
Ve A\ \
e N \
S \
TEL Bk 7 = AR
ay))—p
V=1/2X (0. 37+1. 04) X 0. 34X 10. 00=2. 397
o ck=18N/mm2
2.40 m3
T P
A=0. 34X 10. 00+1/2 X (0. 37+1. 04) X 0. 34=3. 640
/NS
3.64 m2
H HiAk
A=1/2X% (0. 37+1. 04) X 0. 34=0. 240
t=10mm

0.24 m2




i Bl T2

5-3-1 s«

P
A Bl O HAAL Py == Epes & F i B
1:0.5 [EN7 ny) CfiLim) &
2007wy )R Z.35cm H=4. 45m m2 31.4 31. 4 62. 8
375 K L. m 6.3 6.3 12.6




Y = [LUAAS
5-3-2 VAR mAERTAER
g il ==
Tuav 7o R
X Eal
i il = VAR VAR YR -
h5ik B : 1:0.5 %07 nys Clmm) 8% 35cm H=4. 45m

il i % R&@6L)
S K O PR AE| R R I ERE TERL | ER2 |PEIER| mE LS
EPHIXZ R
SECT-3. 1 1:0.5
SECT3. 1 6. 30 6. 30 6. 30 4. 98 4. 98 4. 98 31.4
A & 6. 30 6. 30 6. 30 31.4
& = 6. 30 6. 30 6. 30 31. 4




Y = [LUAAS
5-3-3 VAR miEFI AR
il Bl T2
VA= /AR sy ==
X A
i B 2y =b7 ny ) AH
JH A% 1:0.5 [ME17 ny) CHLE) 4% % 35cm H=4. 45m

il i % R&@6L)
S K O PR AE| R R I ERE TERL | ER2 |PEIER| mE LS
EPHIXZ R
SECT-3. 1 1:0.5
SECT3. 1 6. 30 6. 30 6. 30 4. 98 4. 98 4. 98 31.4
A & 6. 30 6. 30 6. 30 31.4
& = 6. 30 6. 30 6. 30 31. 4




5-3-4 FERE
S il ==
Juav o EE
X 93
i B 395 Kl L
o & o ck=18N/mm2 B A7 :m
H J=1 &= i
[35 KT
25 /A 1E~35/hb 1k 6. 30
/)N & 6. 30
& £ 6. 30




5-3-5 #MEFHE
S il ==
A =R/ AR o=
X 93
i B 395 Kl L
1 ¥ o ck=18N/mm2 B A7 :m
H J=1 &= i
[35 K]
655/NAIE~T5/E 1k 6. 30
/)N & 6. 30
& £ 6. 30




5-3-6 HN I EFEE
H B av))=b7 wy ) FE

i K& 0 1:0.5 [E1%E07 vy CHLf) #£% 35cm 10.0 m2¥%4 Y
H=4. 45m
i |

Mz oy o (m)
£ % 35cm JIE
fa|
A3y Y—k N
o ck=18N/mm2 E[
N
:III:
LO!
N o
SE
o
1SHEET
RIS Bl 2\ 2B
%17 8y)
SEHIH=4. 45m
¥5 % 35cm KA A
10.00 m2
iA1=}
o ck=18N/mm2
2.20 m3
A
10. 0m24 V) IEE
RC-40 L=10.0/(4. 45X 1. 1184})=2. 010m
HUAM S H=4. 45-0. 16+0. 35=4. 640m
HLAMA R AE
V={1/2 X (0. 35X 2+4. 640 X 0. 1) X 4. 640} X 2. 010=5. 428
5.43 m3
H ikt
A=A L[] 2 i £
t=10mm

0.35 m2




NN/ A A _:‘ /‘.
5-3-7 Hf & EE
i B 35 K 1
i ¥ - 10.0 m¥4 9
i |
0.66
©
S ‘ \
\ \ \
M \ 2
\ \ )
\ \ N
\ \ \
\ \ \
\ \ \
=\ \ \
\ \ \
TEL Bk 7 = AR
ay))—p
V=1/2 X (0. 35+0. 66) X 0. 16 X 10. 00=0. 808
o ck=18N/mm2
0.81 m3
Tl e
A=0. 16X 10. 00+1/2 X (0. 35+0. 66) X 0. 16=1. 681
/R )
1.68 m2
H Hik
A=1/2X% (0. 35+0. 66) X 0. 16=0. 081
t=10mm
0.08 m2




B

& B sRav)-b
ST

5-4-1 FEdEstE«

H

B

LA

o

E

iRavy)-h

o ck=18N/mm2 t=15cm

m2

9.4

10.9




5-4-2 VEJiEREMEGRRE

iﬁ A ek -b
A=A oy
X o7
i A BRav )=}
b5k ¥ o ck=18N/mm2 t=15cm
WA HE B (m) % E(m) )AL (m) i fH (m2) 5 2=

SECT-12. 5
SECT-3. 4

/)N § 0.0 0.0

O R BA X K i R BfE

SECTS. 4 0.0 — —
SECTO. 8 6.5 2.9 1.45 9.4 |L=6.19+0.30

/N g 6.5 9.4

& i 6.5 9.4




Y = [ /A
5-4-3 VLR mEF R
fill B gEas )Y =h
Ty o Ak
X
i Pl == V2R
h5ik ¥ : o ck=18N/mm2 t=15cm

oo B (m) % K SEHER (m) i fE (m2) i 2
SECT-9. 7 0.9 — — X REEREEIC K D
SECT-8. 1 1.6 0.0 0. 45 0.7 |L=0.30+6.24

/)N g 1.6 0.7

¢ R B [ Ko R

SECTS3. 4 0.0 — — R
SECT7. 5 3.9 2.2 1. 10 4.3 |L=3.55+0. 30
SECT10. 2 2.7 2.2 2.20 5.9

/)N § 6.6 10. 2

O 8.2 10. 9




5—4-5 BN EE A E
Al G ==V R

hszl ¥+ o ck=18N/mm2 t=15cm 10.0 m23%4 Y
% |
a9y )—+F

o ck=18N/mm2

RC-40
MBI B N 2w

/)=

V=10. 00X 0. 15=1. 500
o ck=18N/mm2 t=1
50 1. 500 m3
AR

V=10. 00 X 0. 15=1. 500
RC-40 t=150

1. 500 m3




6. AR T (3)



6-1 LRI ERIESR

THEXy  EEERET

T i Al RO BT B & T

M EY L = 1
/N IR T = 1
15/ha1ET o ck=18N/mm2 t=30cm BN 1
25/ 1R T o ck=18N/mm2 t=30cm BN 1
3E/NAIET o ck=18N/mm2 t=30cm BN 1
45/ 1k T o ck=18N/mm2 t=30cm BN 1
55/ 1R T o ck=18N/mm2 t=30cm BN 1
65/ 1T o ck=18N/mm2 t=30cm BN 1
TH/NA T o ck=18N/mm2 t=30cm & AT 1
85 /A Ik T o ck=18N/mm2 t=30cm AT 1
NBETRR L = 1

o ck=18N/mm2 t=20cm
Fagav ) -b W=0. 49m m 13

JTYVoOTT

A 1350 Mol m2 23.0
A - iAo 7 ) — b n3 2.7
7a oy 7 PE350 [ HEovZpl m2 19.6




Bl /AR

6-2-1 HELHE

it

PSR
G| R LA s tiF = fif B

15/ R T o ck=18N/mm2 t=30cm & 1.0

27/hH 1T o ck=18N/mm2 t=30cm & 1.0

3/ T o ck=18N/mm2 t=30cm & 1.0

475/hH 1T o ck=18N/mm2 t=30cm & 1.0

575 /NI T o ck=18N/mm2 t=30cm {5 T 1.0

675/ 1k T o ck=18N/mm2 t=30cm 15 T 1.0

75/ T o ck=18N/mm2 t=30cm {5 T 1.0

875/ 1k T o ck=18N/mm2 t=30cm 5T 1.0




Fil Bl /hAIET

A =R /AR oY==

X5

N

6-2-2 e

5 ¥ o ck=18N/mm2  t=30cm B {7 @I
I A W& fii
(LA T)
SECT-12. 5{-J3t 1.0
QF/ha1kT)
SECT-3. 113 1.0
(/A IET)
SECT 3. 1f3F 1.0
4=3/ha1kT)
SECT 9. 8fFir 1.0
7N Z 4.0
a8 i 4.0




il B oha kT

A=RR/ AR Sy ==
A

N

h5ik ¥ o ck=18N/mm2

t=30cm

6-2-3 MERHE

LG VAN 05

H A W& fii
65/ 1ET)
SECT-9. 7{-Fir 1.0
65/~ 1ET)
SECT-3. 113 1.0
(75/hA1ET)
SECT 3. 1fhir 1.0
85/~ 1ET)
SECT 7.5fFir 1.0
/)N 7 4.0
& £ 4.0




6-2-4 BN EIEE
H W 1B/hEIET

hszl ¥+ o ck=18N/mm2 t=30cm 1 BT
% |

<—T /\ v279.889 <

N °
N
3 =R
o <
DL=275. 00
=
O
1.75
TE B 5 X T &

ar7 J—h

A=1/2X (1. 04+1. 21) X0.34+1/2X (1.21+1.81) X6.04+1/2X% (1. 91+
15 1.75) X0.40=10. 235

V=10. 235X 0. 30=3. 071 3.07 m3
g

A=10. 235X 2+ (0. 40+0. 34) X 0. 30=20. 692
ST

20.69 m2

g

A=6. 37X 1.118X0. 30=2. 136
(BT

2.14 m2

H Hib

KT
t=10mm A1=1/2X (1.04+0. 37) X 0. 34=0. 240

a7 g

A2=6. 94 X 0. 75=5. 205

T

A3=1.04X0. 20=0. 208

A=0. 240+5. 205+0. 208=5. 653 5.65 m2




6-2-5 BN EEEE
H W28/ hEIET

hszl ¥+ o ck=18N/mm2 t=30cm 1 BT
% |

a=1. 671m2 1.75

v279. 988
(=3 —
= =
N —
~
©
» R
© .
. ) ©
\ =
DL=275.00 ~
\
o il
273.630 o
<
=)
1.75
TEL & 5 X &
a7 J—h
A=1/2X (1. 75+2. 55) X 1. 60+1/2X (1.53+1.88) X 0. 71+1/2 X (1. 40+
15 1.81) X4.05+1/2X (1.91+1. 75) X 0. 40=11. 883
V=11. 883 X 0. 30=3. 565 3.57 m3
T
A=11. 883X 2-1. 671+ (1. 60+0. 40) X 0. 30=22. 695
ST
92.70 m2
T
A=6.36 X 1. 118X 0. 30=2. 133
(L RER

2.13 m2




BN R R

H W28/ hEIET

#i ¥ : o ck=18N/mm2 t=30cm 1 fHATY b
MBS Hit& B z\ 2w

H Hib Ko L (RAY)

A1=1/2 X (1. 04+0. 37) X 0. 34=0. 240
t=10mm 7y 7 g (KRR

A2=6. 92 X 0. 75=5. 190

FLRET ()

A3=1. 04 X 0. 20=0. 208

A

A4=1.671

Ko L ([ )

A5=1/2 X% (0. 66+0. 35) X 0. 16=0. 081

A= (k)

A6=4. 45X 1. 118X 0. 35=1. 741

FLARE T ()

A7=0. 43 X 0. 25-1/2 % 0. 33X 0. 15=0. 083

SeaEay ) -h

A8=0. 49 X 0. 20=0. 098

A=0. 240+5. 190+0. 208+1. 671+0. 081+1. 741+0. 083+0. 098=9. 312 9.31 m2




6-2-6 H e AEE
HH Bl 3E/haIET

hszl ¥+ o ck=18N/mm2 t=30cm 1 BT
% |

a=1. 636m2 1.75

2.55
1 __ v279. 988
o ? ﬁyrli .
™| © > — - o)
N = //2, } —
N of V278.156
\ . ©
1.02) 1,40 )
0.44 <
DL=275.00  ———-! L
S \ 10
e = V273.706 o
<
[=)
1.74
MBS Hit& i =X &
ar7 J—h
A=1/2X (1. 75+2. 55) X 1. 60+1/2X (1. 53+1. 84) X 0. 63+1/2 X (1. 40+
1= 1. 80) X 4. 05+1/2 X (1.90+1. 74) X 0. 40=11. 710
V=11. 710X 0. 30=3. 513 3.51 m3
Tl e
A=11. 710X 2-1. 636+ (1. 60+0. 40) X 0. 30=22. 384
18 A
22.38 m2
Tl e
A=6.28 % 1. 118 X0. 30=2. 106
iy
\ 2.11 m2
H HikR Kig L« 71w 7 f (KA
A1=6.28 X 1. 118 X 0. 75=5. 266
t=10mm BT (R
A2=1. 04 X 0. 20=0. 208
(A=l
A3=1.636
Kt L ([ %)
A4=1/2x (0. 66+0. 35) X 0. 16=0. 081
A= - L(:iF)
A5=4. 45X 1. 118 X 0. 35=1. 741
LT (%)
A6=0. 43X 0. 25-1/2 % 0. 33X 0. 15=0. 083
SEaRay ) —h
A7=0. 49 X 0. 20=0. 098
A=5. 266+0. 208+1. 636+0. 081+1. 741+0. 083+0. 098=9. 113 9.11 m2




6-2-7 HL I ER

H Wl 48/hEIET

hszl ¥+ o ck=18N/mm2 t=30cm 1 BT
% |

V278. 263

=
\
F ~
< <
_ <+
DL=275. 00 10
V273.789 o
=
[=)
1.56
PEL RS B =\ U %
a7 Y—F
A=1/2X (1. 17+1.62) X4.47+1/2X (1. 72+1.56) X 0. 40=6. 892
15
V=6. 892 X 0. 30=2. 068 2.07 m3
e
A=6. 892 X 1+0. 40 X 0. 30=7. 012
- 18 A
7.01 m2
R e
A=4.47 X 1. 118 X0. 30=1. 499
{ B
] 1.50 m2
H ik K Lo« 7 v v 75 (CKA)
Al1=4. 47X 1. 118 X 0. 75=3. 748
t=10mm T (ORAY)

A2=1. 04X 0. 20=0. 208
Kb L (&) RBEBARGE

A3=1/2 (0. 66+0. 35) X 0. 16=0. 081
7oy 7 () RBERRAEE
A4=4.47X1. 118 X0. 35=1. 749

ARET (%) RBERARE
A5=0. 43 0. 25-1/2 X 0. 33X 0. 15=0. 083

A=3. 748+0. 208+0. 081+1. 749+0. 083=5. 869 5.87 m2




6-2-8 HNEEF

H Bl 58/ NAIET

5] ¥ : o ck=18N/mm2 t=30cm Y Y
%
1.17
V278. 243
y
/
/
//
<t % /
Cl < /
o / DL=275. 00
0.10_1/64
//
$V273.601 _
S |
1.58
MBS Hit& i =X &
a7 Y—F
A=1/2X (1. 17+1. 64) X 4. 64+1/2X (1. 74+1.58) X 0. 40=7. 183
15
V=7. 183X 0. 30=2. 155 2.16 m3
AP
A=7. 183X 1+0. 40X 0. 30=7. 303
- 18 A
7.30 m2
AP
A=4.67 X 1. 118 X0. 30=1. 566
AL AETR
] 1.57 m2
H Hibk K L« 7 v 7 FH (K)
Al1=4.64X1. 118X 0. 75=3. 891
t=10mm BT (R
A2=1. 04X 0. 20=0. 208
Kt L (%) REERAEE
A3=1/2>< (0. 66+0. 35) X 0. 16=0. 081
Ty 7)) SRBERRAEE
A4=4.64X1. 118X 0. 35=1. 816
FERE T () SRBERAEE
A5=0. 43X 0. 25-1/2%0. 33X0. 15=0. 083
A=3. 891+0. 208+0. 081+1. 816+0. 083=6. 079 6.08 m2




6-2-9 BT HEFAEE

H Wl 6m/haIET

1 ¥ . 0 ck=18N/mm2 t=30cm 1 Y Y
%
1.7 a=1.710m2
v280. 120 3::‘2“19
T 77
: N EE
v278.134 o { =t
S <
33
o 9 o
10
4 [
~ 0 1 DL=275.00
7 :::::::::i_l
o |V273.684
=
O
1.76
TEL & 5 X T
a7 —Fk
A=1/2% (1. T1+2. 59) X 1. T5+1/2 X (1. 56+1. 88) X 0. 64+1/2 % (1. 41+
15 1.82) X 4. 05+1/2 X (1.92+1. 76) X 0. 40=12. 140
V=12. 140 X 0. 30=3. 642 3.64 m3
T
A=12. 140 X 2-1. 710+ (1. 75+0. 40) X 0. 30=23. 215
e
93.22 m2
T
A=6. 44X 1. 118X 0. 30=2. 160
(L RER
\ 2.16 m2
H HiAk K Lo« 7 a7 fg(KA)
A1=6. 44 X 1. 118 X 0. 75=5. 400
£=10mm N AN it))
A2=1. 04 X 0. 20=0. 208
& 53508
A3=1.710
K L ([E%0)
A4=1/2 X (0. 66+0. 35) X 0. 16=0. 081
7y 7 ()
A5=4. 45X 1. 118 X 0. 35=1. 741
Fop T (%)
A6=0. 43X 0. 25-1/2X 0. 33 X 0. 15=0. 083
Saayy)—p
A7=0. 49 X 0. 20=0. 098
A=5. 400+0. 208+1. 710+0. 081+1. 741+0. 083+0. 098=9. 321 9.32 m2




6-2-10 HAfT K REEE
HH B 7E/NE IR T

5] ¥ : o ck=18N/mm2 t=30cm 1 Y Y

o
=

1. 71 a=1. 678m2

2.59
v280. 120 _
. “%
- \ ; TN
v278.210 g ﬁ%%j —ig
© P 0
o s
T
~ L**j _
0.1 | DL=275.00
S
o 1V273.760
<
O
1.75
ML 3 i Z\ 2B
a7 Y—F
A=1/2X (1. 71+2.59) X 1. 75+1/2X (1. 56+1. 84) X 0. 56+1/2X (1. 40+
15 1.81) X4.05+1/2X (1. 91+1. 75) X 0. 40=11. 947
V=11. 947 X 0. 30=3. 584 3.58 m3
Tl
A=11. 947 X 2-1. 678+ (1. 75+0. 40) X 0. 30=22. 861
18 A
22.86 m2
Tl e
A=6. 36X 1. 118X 0. 30=2. 133
izilitzs
2.13 m2
H Hik KoL« 71w 7 FE (R
A1=6. 36X 1. 118 X 0. 75=5. 333
t=10mm BT (R
A2=1. 04X 0. 20=0. 208
e
A3=1.678
K T (E1%)
A4=1/2% (0. 66+0. 35) X 0. 16=0. 081
7 v 7 FE (%)
A5=4. 45X 1. 118 X 0. 35=1. 741
JERET (RS %)
A6=0. 43X 0. 25-1/2%0. 33X 0. 15=0. 083
Sy =}
A7=0. 49X 0. 20=0. 098
A=5. 333+0. 208+1. 678+0. 081+1. 741+0. 083+0. 098=9. 222 9.22 m2




6-2-11 HEf =R
i Bl 88/ NOIkE T

5] ¥ : o ck=18N/mm2 t=30cm 1 Y Y

o
=

Vv279.119

= ™
o Lo
010 DL=275.00
gﬂ@@ﬂL
(=)
1.64
PEL RS B =X % %
a7 J—F
A=1/2X (1. 17+1.70) X5.31+1/2X (1. 80+1. 64) X 0. 40=8. 308
15
V=8. 308 X 0. 30=2. 492 2.49 m3
T
A=8. 308 X 1+0. 40 X 0. 30=8. 428
- 18 A
8.43 m2
T
A=5.31X1.118X0. 30=1. 781
{ B
] 1.78 m2
H ik K Lo« 7 v v 75 (CKA)
A1=5.31X1. 118X 0. 75=4. 452
t=10mm T (ORAY)

A2=1. 04X 0. 20=0. 208
Kb L (&) RBEBARGE
A3=1/2 (0. 66+0. 35) X 0. 16=0. 081
7oy 7 (FE)  RBERRAEE
A4=5.31X1. 118 X0. 35=2. 078

ARET (%) RBERARE
A5=0. 43 0. 25-1/2 X 0. 33X 0. 15=0. 083

A=4. 452+0. 208+0. 081+2. 078+0. 083=6. 902 6.90 m2




B

Bl NBTERET
ST

6-3-1 F=dEdIR

H

B

LA

E

Fagavs)-b

o ck=18N/mm2 t=20cm
W=0. 49m

6.3

6.3




i Bl /NBREIRT

Ty o
X g

W B EaE -}
h5ik ¥ o ck=18N/mm2 t=20cm W=0. 49m

6-3-2 FEHE

H A7 :m

H W& fii 5
25/ NA IE~35/ A 1k 6.3 [XEBXZMH

)N 6.3

= 6.3




i Bl NBREIRT

Tuy o AR
S

W B EaE -}
h5ik ¥ o ck=18N/mm2 t=20cm W=0. 49m

6-3-3 A EHE

H A7 :m

H W& fii 5
25/ NA IE~35/ A 1k 6.3 [XEBXZMH

)N 6.3

= 6.3




6-3-4 BN HEF A E
Al R = /BN

H #& o ck=18N/mm2 t=20cm W=0. 49m 10.0 m¥4 v
B X |
W=0.49

avoy—+Fk

B #hAf =
F=10m o ck=18N/mm2
< -
8 SN \

[
=
i
oY
o
jn)|
o e
.0'1 [$;]
° g
/
/
/
—
—
/
//03

MBS Hit& i Z\ 2B
ay))—p
W=0. 49m
o ck=18N/mm2 t=2 |V=0. 49 X 0. 20 X 10. 0=0. 980
Ocm 0.98 m3
Tl e
5 A H1 X5, omfEIRE
IINEUFETEY) A=0. 49X 0. 20 X 2=0. 196
0.20 m2
A
SEFIW=1/2 X (0. 51+0. 59)=0. 550
RC-40 t=200 A=0. 550 X 10. 00=5. 500
V=0. 550 X 10. 00 X 0. 20=1. 100
5.50 m2
H Hkt
5 A H1 X5, omfEIRE
t=10mm A=0. 20 X 2 X 10. 0+0. 49 X 0. 20 X 2=4. 196

4.20 m2




= Yol
6-4 TV T HoE =
A A=A
I MO OB EBE S SR HE SO SR i
+F
- 0.0
2.7 5.9 2.95 8.0
0.5 5.9 5.90 3.0
- 5.2
0.5 5.2 5. 20 2.6
2.3 0.0 2. 60 6.0
B
- 0.0
2.2 5.0 2. 50 5.5
0.5 5.0 5. 00 2.5
- 7.1
0.5 7.1 7.10 3.6
3.2 0.0 3.55 11.4
m2 m2
B 12.4 23.0 19. 6
A= 7 ) —h
1.17 m3/10m2%4 v )
V= 23.0 x\1. 17 /100 = 2.7 m3




7. WEYHE L



Tl ;‘%J D EEY IR LT

-1 BEERR

H
Gl O HAfT I Pey=a & F i B
HERERUE L 7 ny ) FH m2 5.8 35.5 41.3
20~ M)
L SR EYD m3 2.2 0.0 2.2
TAT 7V MEEERR, t =
B A 10cm (t=5cm) m2 42.3 43.9 86. 2
TAT 7V MEEERR, t <15cem( t
SHAEAR O =5cm) m 9.7 13.6 23.3
VA m 5.0 5.0




Mol EEY IR L T

A=Ay =

7-2-1 —fxEtEE

X 43
VT 7 N T
FE e L

k- EHHKELDY
7 0y ) FE A=2.0X1.118X 2. 6=5. 81

5.8 m2

1)) — M ) B
SR &Y T2 I // )} J\LL/

__H=279.815 P x 4/E 15Bor No. 1 -

T ZHEDT.
75—
=) SECT-10. 0L
—F=
At
- P i /
.f,_-,,”__._ _
’ A —_ B

V=0.71X3.1=2.20 (FBEIZL D) 2.2 m3
S EE AR

ERTERR « AREEIEIRIXI K D
TAT 7 ML AR A=42. 3m2
t <10cm (t=5cm) 42.3  m2
E 2 R O By
TAT 7V MEREERR ERTERRI « AREEIEIRIX K D
t=<15cem( t =5cm) |L=2.3+7.4=9. Tm

9.7 m




7-2-2 —fxEEE

BB S LT

A=/ Sy ==

X 97
HHA1 RS B z\ 4] 2w
I L
k- EBIHEKELY
ARSYSS A=1/2X (3. 445.3) X 1. 118X (2. 1+5. 2)=35. 50
356.5 m2
Sl R R A
LR - BEEIE IR K Y
TA7 7 MEZE AR A=43. 9m2
t=<10cm (t=5cm) 43.9 m2
ELE AR B
TAT 7V MEREERR LR - SRR IR K
t=<15cm( t =bcm) |L=13.6m
13.6 m
AR
ik k- BIHEK LY

L=5. Om

5.0 m




Ml ERALEE T

7-2-3 e

it

PSR - O
Gl O HAAL Py == Epes & F i B
PO AL R e -h m3 2.0 12. 4 14. 4
i) -h m3 2.2 0.0 2.2
TAT 7 m3 2.1 2.2 4.3




T-2-4 —fREHHEE

Fit B EHRALEE T
A=A oy

X A
A1 B = &
T R ALER
HEmBEEL LV
) ) =] V=5. 8 X 0. 35=2. 030
2.0 m3
O R ALER
HEMBEEL LY
Ay -} V=2.2
2.2 m3
O R ALER
EmBEEL LV
TAT 7 ) V=42. 3% 0. 05=2. 1
2.1 m3




7-2-5 —fxEHEE

M LT

A=/ Sy ==
PAN

X 47

=

=

[Enf

5

Al ISR
OB AL

e =h

G RBUE L T L0
V=35. 5% 0. 35=12. 425

12.4 m3

TR AL

TAT 7V b

fEmBUE LT LY
V=43. 9% 0. 05=2. 2

2.2 md




8. k(1)



8-1 &

AllEH
T Ff B moB O BT ¥ & fi5 &
ER Jii THE R m 29.6
RN m#d SYW295 =9. 50m MF2R L e 74 U —2%F
SRR BT H260. 0Kg/m| — A4 ¥ 570. 0Kg ke 42180 n
EAE L=8. 78m TEBUEAS [ Tk (g MR ER) | K 74 | NESEEINFE=129
CiE7 e L=8. 78m ERXBUEAS [k Tk e 74 n
IR R R T H—350 X 350X 12X 19 SS400 L=5. 35m VN 4 U — 2kt
BN F£150. 0Kg/m| —A<24 ¥ 802. 5Kg kg 3210 n
JEE L
H—350X350X 12X 19 $S400 L=8. 25m PN 4 U — 2 Hf
BN E 150, 0Kg/m| — A4 V) 1237. 5Kg ke 4950 )
EEAE H—300X300X10X 15 $S400 L=4. 15m A 2 Y — 2 Hf
B 100, 0Kg/m| —4<24 ¥ 415. 0Kg kg 830 /]
H—300X300X10X 15 $S400 L=1. 12m A 8 Y — 24
ek FT 5
B 100, 0Kg/m| —A4<4 ¥ 112. 1Kg kg 897 /]
/NG ke 9887
B (A) [r—= 7o—1s ke 2175 | FHEH X0. 22
Bkt (B) |797 1, wars kg 395 | FEKF X0.04
& F ke 12457
IR SR t 25




RE&T (A1$B&
1) BEfERE
T Ff WY oo O BT ¥ & fi5 &
ER Jii THE R m 29.6
RN m#Y SYW295 =9. 50m MF2 L e 74 U — 2 %F
SRR = HLAT #8060, 0Kg/m| — 424 ¥ 570. 0Kg ke 42180 n
EANE L=8. 78m HERHUE A T R AR S | A 74 [INEFEINME=129
CiE7 e L=8. 78m EXBUEAS [k Tk e 74 n
IR R S T H—350 X 350X 12X 19 SS400 L=5. 35m VN 4 U —2kF
BANZE 150, 0Kg/m| — 74 ¥ 802. 5Kg ke 3210 "
JEHE L
H—350 X 350X 12X 19 $S400 L=8. 25m VN 4 U — 244
AT B R150. 0Kg/m| — A4 ¥ 1237. 5Kg ke 4950 N
EEAA H—300 X 300X 10X 15 SS400 L=4. 15m VN 2 U — 244
B 100, 0Kg/m| —4<24 ¥ 415. 0Kg kg 830 N
H—300 X 300X 10X 15 $S400 L=1. 12m VN 8 U — 2 Hf
MK HT B
B 100, 0Kg/m| —A4<4 1 112. 1Kg kg 897 N
/NG ke 9887
B (A) [p—= 7o—1s ke 2175 | FHEH X0. 22
Bkt (B) |797 vk wars kg 395 | FEKF X0.04
& F ke 12457
IS SR t 25




2) RIRT (RN
2-1. fi THER:

L= 5.600  +  9.200
2-2. i LA (A

L= 9.50 m

N= 29.600 m/  0.400

2-3. WFRAE &

L= 9.50 m N=
W= 9.50 mX  60.0
2-4. [EAE (
L= 279.868 - ( 271.088
(FTIAZATERE)
N= 4 K
2-5. BlEER (
L= 279.868 - ( 271.088
(FTIAZATEE)
N= 4

3) AREXMERIERE T

3-1. EHEpH

AL ( H—350X350X12X19
N= 2 A X 2
L= 5.350 m X 4
wl= 5.350 m X  150.0
N= 2 A X 2
L= 8.250 m X 4
w2= 8.250 m X  150.0

’

+

) (

m/ R

74

SYW295

5. 600

)

T2 L)

e

kg/m X

)

)

)

{1 T
ZN

kg/m

{1 T
A

kg/m

T AU A G| Hk i (R Hiig =)

HE AW A G Tk

29.600 m

(E'S

42180 kg
42.2 t

8.7 m

8.7 m

4 K
21.4 m

3210 kg
3.2t

4 K
33.00 m

4950 kg
5.0 t

EW=

8160 kg
8.2 t



FAFTH
N=

L:
XL=

TERHS

W:

2 K X 4
2.121 — 0. 500
1.121 mX 8
1.121 m X 100. 0
HEAH
8160 + 830

(

H—300X300X10X15

1 AR X 2
4.150 m X 2
4.150 m X 100. 0

H—300X300X10X15

3-2. BIEMA (BE—ZX, 7b—15)

W:

3-3. RIMB(ZT 77 v b, AL )

W:

3-4. ERAS

4) {REEAE

W:

9887 kgX 0.22

9887 kgX 0.04
HREAT
9887 + 2175
A

8.2 + 0.9

fi FIT

kg/mX

& AT
m X

kg/mX

+

897
395
0.9 +
0.4 +

2.2

12.5

8.3 m

830 kg
0.8 t

EW=

830 kg
0.9 t

1.121 m
8.97 m

897 kg
0.9 t

9887 kg

2175 kg
2.2t

395 kg
0.4 t

12457 kg
12.5 t

25,1 t



8-2 K

A2KE R
T Ff B moB O BT ¥ & fi5 &
ER Jii THE R m 30. 4
RN m#d SYW295 =9. 50m MF2R L e 76 U —2%F
SRR BT H260. 0Kg/m| — A4 ¥ 570. 0Kg ke 43320 n
EAE L=8.67m TEBUEAS [ Tk (g MR ER) | K 76 | NESEEINfE=128
CiE7 e L=8.67m ERXBUEAS [k Tk e 76 n
IR R R T H—350 X 350X 12X 19 SS400 L=5. 75m VN 4 U — 2kt
BN F£150. 0Kg/m| —A<24 V) 862. 5Kg kg 3450 n
JEE L
H—350X350X 12X 19 $S400 L=8. 25m PN 4 U — 2 Hf
BN E 150, 0Kg/m| — A4 V) 1237. 5Kg ke 4950 )
EEAE H—300X300X10X 15 $S400 L=4. 55m A 2 Y — 2 Hf
B HE 100, 0Kg/m| —4<24 V) 455. 0Kg kg 910 /]
H—300X300X10X 15 $S400 L=1. 12m A 8 Y — 24
ek FT 5
B 100, 0Kg/m| —A4<4 ¥ 112. 1Kg kg 897 /]
/NG ke 10207
B (A) [r—= 7o—1s ke 2246 | FHEH X0. 22
Bkt (B) |797 1, wars kg 408 | FEEHF X0. 04
& F ke 12861
IR SR t 26




RE&T (A248&
1) BEfERE
T Ff WY oo O BT ¥ & fi5 &
ER Jii THE R m 30. 4
RN m#Y SYW295 =9. 50m MF2 L e 76 U — 2 %F
SRR = HLAT #8060, 0Kg/m| — 424 ¥ 570. 0Kg ke 43320 n
EANE L=8.67m HERHUE A T R AR S | A 76 | INEFEINME=128
CiE7 e L=8.67m EXBUEAS [k Tk e 76 n
(RERb R R T H—350 X 350X 12X 19 $S400 L=5. 75m VN 4 U — 24
BN E 150, 0Kg/m| — 74 V) 862. 5Kg ke 3450 "
JEAE L
H—350 X 350X 12X 19 $S400 L=8. 25m VN 4 U — 244
AT B R150. 0Kg/m| — A4 ¥ 1237. 5Kg ke 4950 N
EEAS H—300 X 300X 10X 15 SS400 L=4. 55m VN 2 U — 244
B 100, 0Kg/m| —4<24 V) 455. 0Kg kg 910 N
H—300 X 300X 10X 15 $S400 L=1. 12m VN 8 U — 2 Hf
MHT B
B 100, 0Kg/m| —A4<4 1 112. 1Kg kg 897 N
/NG ke 10207
B (A) [p—= 7o—1s ke 2246 | FHEH X0. 22
Bkt (B) |797 vk wars kg 408 | FEEHF X0. 04
& F ke 12861
IS SR t 26




2) RIL ( N , SYW295 )

2-1. Ji THER

L= 6. 000 + 9.200 +  6.000 + 9. 200 = 30.400 m
2-2. s THHK ( & ) #EF2RL)

L= 9.50 m

N= 30.400 m/ 0.400 m/#Z = 76 %

2-3. HHRAE &

L= 9.50 m N= 76
w= 9.50 mX  60.0 kg/m X 76 f = 43320 kg
= 43.3 t
2-4. JEAR ( WERPUEAS L Tk (EEHARER) )
L= 280.090 - ( 271.420 ) = 867 m
(FTIAB )
N= 76 e
2-5. BlHRE ( ERBUEAS 1k LIk )
L= 280.090 - ( 271.420 ) = 867 m
(FTiA D)
N= 76 K
3) RExMERERIE L
3-1. EHH
JEfE L ( H—350X350X12X19 )
N= 2 A X 2 & AT = 4 VN
L= 5.750 m X 4 N = 23 m
wl= 5.750 m X  150.0 kg/m X 4 = 3450 kg
= 3.5 t
N= 2 A X 2 & T = 4 VN
L= 8.250 m X 4 A = 33.00 m
w2= 8.250 m X  150.0 kg/m X 4 = 4950 kg
= 5.0 t
TW= 8400 kg

= 8.4 t



g 7 ( H—300X300X10X 15

N= 1
= 4. 550
W= 4. 550

M HTE ( H—300X300X10X 15

N= 2
L= 2.121
TL= 1. 121
w= 1. 121
ERME RS
W= 8400

3-2. HIEHMA (BE—X, L —5)

W= 10207

3-3. BIESM B (7747 v b, AL hE)

W= 10207

3-4. RERMEREAT

W= 10207

4) (REA R

W= 8.4

A X

m X

m X

AR X

m X

m X

+

kg X

kg X

+

100.0

4

0. 500

8

100. 0

910

0. 22

0.04

2246

1.0

&

kg/m X

f& AT
m X

kg/m X

+

897
408
0.9 +
0.4 +

2.3

12.9

1.121 m
8.97 m

897
0.9

10207

2246
2.3

408
0.4

12861
12.9

25.9

kg

kg

kg

kg

kg
t

t



8-3
INEFHINE

LR

P

TEENo

~|H

INEFHNE

]

Al

T8

Rt

g
I3 | w
s

WHE+

N{E

25.0

271.0

300.0

BIEL(m)

4.12

3.33

0.25

NXL

103. 0

902. 4

75.9

129

A2

T8

Rt

WHE+

WHE+

N{E

4.0

271.0

300.0

BIEL(m)

2.48

3.59

0.00

NXL

9.9

972.9

0.0

128

T8

N{&E

BIEL(m)

NXL

I8

N{&E

BIEL(m)

NXL

T8

N{&E

BIEL(m)

NXL

I8

N{&E

BIEL(m)

NXL




9. fax1.(2)



9-1-1 e L&+ Alked O
4 Fr Bk BooxE 3K B &
- PR L = 227.7 m
AR TR E &+ (Rl oD T &) i = 110.2 m
BEAL 227.7-110.2 (fiifE & +5) = 117.5 m
TS BEAL 117.5X1.11 (ML) = 130.4 m
AT IF< L 117.5X1.33 (1F< L) = 156.3 m
oAl &R (W) = 227.7 m
DA oy = 227.7 m
TS sy e = 227.7 m
wiE - {iE (KAt 1/2 x( 0488 + 548 H)x 123 =
+ 54 X 97| =
+  1/2 x( 548 + 08/ Hx 9 = 98 ¥
KIA DS BE | A2EKR T A0 9 243/ 98-24 = 74 4%
A2V KRR D 5 252-[FAL + D 5 228% it = 24
DS E BT 74.0/1.2 (L) = 61.7 m
AT IZ<L = 74.0 m'
KA+ D ) FxiE = 98 4§
KA A0 5 = 98 4%
D ALy 98/1.2 (ML) = 81.7 m'
Wy = 81.7 m'
G A2HE AR AR RV K 6 IR — ALK B % = — A LR 7 18 /K xR




9-1-2 AlEE +T C g
\ - MG L %t
moo i - SN - —
W E | 8 ST W | 8 ST
0.0 — —
5.400 15.6 7. 80 42. 1
9. 200 15.6 15. 60 143. 5
5.400 0.0 7. 80 42. 1
& F 227.7 0.0




9-2-1 e L&+ A2ked O
G Bl & BoooE K B &
%+ b ) 232.0 m’
s BEA T 232.0X1.11 (Hulidatg) 257.5 m’
A+ <L 232.0X1.33 (1E< L) 308.6 m’
HEl ¥ Eom’

L (A2 EEAKRRR Lo 9 ~jiH)
162.0 (A2WAxH LD 5) /1.33 (1F< LK = 121.8 m’
EERE (REX)
— 232.0-121. 8 (fiifE 1) 110.2 m’
RIE - iE (Kt ) 1/2 x( 0% + 5148 )x 873
+ 548 X 94
+  1/2 x( 54 + 04 Hx 10 % 90 4%
KA+ 5 FE 90 4%
S BEAL 90.0/1.2 (Hfulias) 75.0 m’
fEA T+ IFZ<L 90.0 m’
KA D 5 HE 90 4§
K+ 5 ik KA LD 5 fEIL AWK RL Lo HRETIZED
G A2HF B A2 KRR — A LG 5 8% T — AL = K kR




9-2-2 A21EHE +T E g
\ - MR L %t
moo i - SN - —
W mwo | F N W m | F 8 N
0.0 — —
5. 300 16.0 8. 00 42. 4
9. 200 16.0 16. 00 147. 2
5. 300 0.0 8. 00 42. 4
& F 232.0 0.0




9-3-1 i L7755 1k T &G R OE
4 Fr Bk - ¥ G
+05 KL 5 RE | BRFEA2 252 - 90 (MRBEME LI VM) = 162 4%
(16248 &k 1AM s L 0 Bt )
(AT KRR 10> 5 22848 1T A2¥ /K xR+ 9 JieJ1)
KRIAD D F%E | BIEREIE LD A1+A2 = 480 4%
KA+O S HE | BERFHE LD AL %) A2 (iE %) = 480 48
Y sy (252-24 (ALRRE T4 ) /1. 2 (ML) = 190.0 m’
Y = 190.0 m’
GanL] AAE B T A2GE KA R ARG B T ALE /KR 3R




& Bl AR T
ST

9-3-2 #ELE

S

H

Gl O HAAL Py == Epes & F i B
KE+D 5
AxiE - s 1m3/{& J[E5) 228 252 480




9-3-3 —KEHEAEE

A IR ¢ s

=R/ AR oY==

X 97

s ] EN X T
INIEROD)
it - ik

1m3 /&

1m3 /1

ﬂfﬁ@ // '
J!mm!mnlnnll"i~@§E%%é%%%i::\\
T - |

N

7%“ ‘;f 3
eSS
:2'\“’:‘« ‘2"’9’0’ \

R Y -

= 9?..‘2 XX g

] : D
5D

+275.32

HEIH2L1

"279.99

S ﬁé‘.iﬁ{g]( §
=T AR

(et £ 0
N=6 X 35. 0+ (6+1) /2 X 5. 0=227. 5

228

&




9-3-4 —xErEE

fill B AR T
A=/ Sy ==

X s
WL B 5] EN X &
KEI+D 9

AIE - R .

1m3 /1 sms—ian
2 38 -4 &

At p,
218.57 P
44lgl!!!!!iﬁiﬁﬁﬁliw‘iﬂ!!!!!

LLLITT [T, Ry Rhing

T
2 St

200

X) =]
e AR A
o teel

XA

XN

T

L n--ll-‘l...-.n.-_-!-- u-u.
. -
_"E"__‘;I, """"""";"
—L

mRER22L1

H=279. 987

*279. 99

Bor. No. 2
064

rax et EX &0
N=6 X 42. 0=252. 0
252
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— MR KFEINTE (FERMERAT B g T —




EFEITREREER -

@R $=1:200

~ I .

\ ~=

' o L) [
NSV, — nlln SIS (— S
N am amn i/

BEBNER $=1:100
.
SSSSSSSSSSSS L
KBTI (E598)
ABEOS ABEDS
- % _— _— E‘E — —_ :
I E— =7 sxx o \ i 7N
2 7 amm © 7 onu s AV ) \ el 17 /
WL s T e t £
] 7 "z GpRKE 20685 = s
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f | TEES W58
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E ERKTEATE
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& B|  WEARETRETARE B
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FI{RHENE

SECT-10.0L SECT-10.0
sEeT-12.50) s

XELDS AETDS

Vs

W _ounLamen

¥ HAL 20
z ERTKAL_+217.528

SECT-10.08
(SECT-0.TR)

278,701 )
278,051 ()

2500

601 ®)

DL=270.00

et
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